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Secondary Math 3 Quarter 3 Final Review
Calculators Allowed
Solving Right Triangles >
Find the indicated side or angle. Round to the nearest tenth. SN

1. Side AC (side b).
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Radians and Angles
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/Secondary Math 3

Name: K E\(

Secondary Math 3 Quarter 3 Final Review

Calculators Allowed
Solving Right Triangles

Find the indicated side or angle. Round to the nearest tenth.
1. Side AC (side b).

2. Side AB (side c).
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Radians and Angles
Find a positive OR negative co-terminal angle for the given angle:
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Unit Circle Trig
Find the exact value of each trigonometric function.
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Graphing Trig Functions
Graph the following functions. identify the period and amplitude of each function.

21. y=3sind 22. y=4cosé
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23. y—cos40 24. y=sin26
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25. y—4sin48 26, y=2cos28
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27. y=4cosf+1
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Write an equation for the following graphs:

29. y= ACegl +L
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30. y= Sin 140
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Law of Sines and Cosines

33. Find the measure of angle B.

35. Find the measure of angle C.
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37. Find the length of AC (side b).
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34.'Find the measure of angle A.
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36. Find the measure of angle A.
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38. Find the length of BC (side a).
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39. Find the length of AB (side c).
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43, Find the length of side AC (side b).
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40. Find the length of side BC (side a).
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44 Find the length of side AB (side c).

B
17yd ™
= 12k
g 15yd C
b
=T+ 18 ~2ON(IS) tos ]




Secondary Math 3 Quarter 2 Final Review

Dividing Polynomials

Divide the foliowing polynomials.

45. (9% +36m° +3 10" + 190+ 21) = (n+3)
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Is dix) & faclor of f{x)? Show your work to support your answer.
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Zeros of Polynomials and Graphing Polynomials

57. flx)=x(x+1)}(x+3)
Find the zeros and multiplicity.
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Skelch a graph of the function f{x):
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58. flx)=~(x—1j(x+2F =-(x-) bean)(xr2) (x93

Find the zeros and multiplicity.

Sketch a graph of the function f{x):
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59. f(x}=-x(x—=2)
Find the zeros and multiplicity. Sketch a graph of the function f{x):
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Find the zeros and multiplicity. ‘Skelcha graph of the function f(x):
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Find the zeros and mult
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63. f(x)=—{x+1)(x 2Hx-3)

Find the zeros and rmultiplicity.
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Sketch a graph of the function f(x):
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61. f(x)=—(x+3) (x+1) (x-4)

Find the zeros and multiplicity. Sketch a graph of the function f(x):
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62. f(x)=x"(x+1)(x-2)
Find the zeros and multiplicity. Sketch a graph of the function f(x):
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63. f(x)=—(x+1x-2)(x-3)
Find the zeros and multiplicity. ~ Sketch 2 graph of the function f(x):
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64, f(x)=x"(x-2)
Find the zeros and multiplicity. Skelch a graph of the function f{x):
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Write 2 function in laclored form for the graph.
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